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Muttiptizierew MLt relnen Zehmnerin

J+3+3= oder 3.3
30+30+30=90 oder 3.30=90

2.8 5.3510 3.7-6 4.4-6
2.40=80 5.30=130 3.20=60 4 .40 =160
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Dle Zwanzioerveihe

20 40 o0 80 100 120 140 160 180 200

5.20=100  2.20<180 /.20 =140
1.20 =20 4 .70 =80 6.20-120
3.720 =60 8. 20 =160




pie Drethioerreihe
30 60 90 120 150 180 210 240 270 300
6.30<180  5.304150  9.30=270

430120 £.30=210  3.30 =90
2. 30 =60 1.30=30

Die Vierzigerrveilhe

40 80 120 160 200 240 280 320 360 400

3.40=120  F.40-=280  5.40 =200
8.40=320  7.40-80 1.40 =40
10.40-400  6.40 =240




Dle Flunfzigervelhe
50 100 150 200 250 300 350 400 430 300

2.00=100  3.30+130  7.50 =350
6.50=30 700450 4 .50 =200
1.50 =50 8. 50 =400

Multiplikationsta belle

1 213141516 7]8172110
b0 | 60 120|180 | 240 | 300|360 420|480 540 | 600

F0 | 70 | 140210280350 420 | 490 | 560 | 630 | 700
80 | 80 | 160240320 | 400480 | 560 | 640 | 720|800
90| 90 | 180270360 | 450 | 540 | 630|720 | 810 | 900

Hol " dir eine Kopie und klebe die Tabelle ins Heff!
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Multiplikationsstreifen

S| F| 3|4 8 | 1 20 | 50 | 90 | 40
2.2040 750 =100 790 <180 7.40-80
5.20 =100 5.50 =250 5. 90 =430 5. 40 =200
#.20 =140 7.50 =350 #.90 =630 740 =280
3.20-60 3.50 =150 3.90-210 3.40 =120
4.720-80 450 =200 4. 90 =360 4. 40 =160
6.20 120 6 .50 =300 6. 90 =540 6. 40 =240
.20 =160 8. 50 =400 8.90 =720 8. 40 =320
1.20-20 1.50 =50 1.90-90 .40 =40
.20 =180 9 .50 =430 9.90 =810 9. 40 =360




